Typos and Corrections for Interaction Models: Specification and
Interpretation

1. There is an error in Eq. 5.17. In the book, we wrote

“We now have
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=(0.0084 0.0077 0.0679 0.0426), (5.17)

where each element in the resulting row vector corresponds to the variance for the pre-
dicted value in one of our four scenarios.”

Of course, the result of this matrix multiplication is not a row vector but a 4 x 4 symmetric matrix.
The four numbers in the row matrix indicated at the end of Eq. 5.17 are correct, but they appear
along the main diagonal (top left to bottom right) of the 4 x 4 matrix.



